R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - XXX - Flush Glazed Impact\Drawings\TX-4596.4597.dwg, TX-4597

plastpro

5200 W. CENTURY BLVD.
LOS ANGELES, CA 90045

FLUSH GLAZED FIBERGLASS DOORS

DOUBLES
w/ or w/out SIDELITES

INSWING
"IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Fiberglass Door described herein complies with the 2006 International Residential
Code (IRC), Sections R301 & Ré13 and the 2006 International Building Code (IBC),
Sections 1405.12, 1609, 1714.5, 2403 and 2404 (including Texas revisions) subject to the
following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment
to base material shall be beyond wall dressing or stucco.

2. This system has been tested and evaluated as a large missile impact protective
system for installation in the Seaward, Inland | and Inland I areas. This product
meets missile level "D" as defined in ASTM E 1996.

3. Allowable design pressure requirements must be equal to or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.

4. Conditions not covered by this drawing are subject to further engineering analysis.

TABLE OF CONTENTS

SHEET#

DESCRIPTION

Typical elevations, design pressures & general notes

Door panel details

Sidelite panel details

Elevations

Vertical cross sections

Horizontal cross sections

Frame anchoring & hardware details

O (N[O~ || [WIN|—

Bill of materials and components

~— 174" MAX. OVERALL FRAME WIDTH ——

98" OVERALL FRAME HEIGHT
(INSWING)

150" MAX. OVERALL FRAME WIDTH

|‘7 74" MAX. FRAME WIDTH ——"* FRAMEWIDTH |

\_‘\'\'\.\\\1
E.0F Ay
DON F. SCHMID
104123
{oenseR

®es,

§ni2 LS
lll* *: 5 : ?Q\s

Tnndae™

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

37.25" MAX.

98" OVERALL FRAME HEIGHT
(INSWING)

(@) X X (0
—l—075" —|—o075"

MAS DESIGNPl;RESSURE

CONFIG. FRAME (PSF)
DIMENSION INSWING
POS. NEG.
XX 74.0"x 98.0" | +50.0 | -55.0
OXXO | 150.0"x 98.0" | +50.0 | -55.0

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

0
=Z =
8o
n3
o W
S °F
~ 0
o= | b
Qv g =l
=W > <O
U')S - a
3 QW
O S| 3
ooz L L"'(/‘)
L) (75} L
m 0 =
L EOE 35
5 = 23
ol Ln
2 =0
o Bl &
@ < o
o a
>_
m
)
=z
O
n
@
L
<
[
o
=z

oate: 1/13/16

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4597

sHEer 1 oF 8




STILE {PVC)

NYLON SCREW (3" FROM ENDS & 16" O.C. )

A\

—

STEEL REFORCEMENT
(0.125" X 1.5" X 84")

DOOR SKIN

35.75" MAX. PANEL
WIDTH
25" MAX,

D.LO.WIDTH
q

INTERIOR

EXTERIOR

1.2" =

/"1 HORIZONTAL CROSS SECTION

-~ 1.75" ——

\2/

95.25" MAX. PANEL HEIGHT
79" MAX. D.L.O. HEIGHT

SEE HARDWARE
TABLE !
(LATCH & DEADBOLT)

/

35.75" MAX. PANEL
WIDTH
25" MAX.

D.L.O. WIDTH
q

i

&P

55" —= t<——

35.5"

1.
W
/

/

{MULTI-POINT LOCK}

33.125" ———*IQI

56“

24.25"

40 PLASTPRO DOOR PANEL

FLUSH GLAZED

DOOR SKIN: FIBERGLASS (0.086" MIN. THK.)
FOAM CORE: POLYURETHANE (1.9 PCF MIN.)

STILE
REINFORCEM
(WOOD)

ENT

——1/2" GLASS BITE

1" OVERALL GLASS THK.
1/8" TEMPERED GLASS

/3

DOW 995
STRUCTURAL SILICONE

C :) GLAZING DETAIL
FLUSH GLAZED

AR SPACE

——1/8" ANNEALED GLASS

1/8" ANNEALED GLASS
ALUM SPACER

%:)—.

. GLAZING BEAD
PVC

—f 07—

KNOB: SIGNATURE SERIES
ET
KWIKS DEADBOLT:  SERIES (640)
KNOB: F51
SCHLAGE DEADBOLT: B&ON
YALE KNOB: NEW TRADITIONS
DEADBOLT: YH 82
ENDURA MULTI-POINT LOCK:
PRODUCTS TRILENNIUM 3000 SERIES (3 PT.)

0.090" SAFLEX® PVB INTERLAYER

AV uf
B L R L
S EiQf by |88 .
oA xR0 N Ex 0 W
S ¥ iFiwne SlEx g uo
507 0L NEY Sy oB E°
eI SO s & d z z |
i Susi ;7 o=z Lo %2 Bl
-t Flois i 6w AE®  w
/ % s A S - [34 (2] -
’;4’.,‘ .%‘;0 Qr‘tﬂ G X ;»Z-oaz %z
g oo, OFT F YW o2 56
3 GuariSi VLS 57 558 gE
H - U, * 755 Leen? O Bp>r WE
TOP RAIL | lzh.l{{:. PROCES® 2o b
{PVC) ? NN & S8 &9
O Xz 12
3 z R '8 L
5 o8%eg 76
I i ¢ 509 Buw
RAL — | 2 & Bed 3%
REINFORCEMENT 2 § of
1]
(WOOD) E @ 1
! 8
©)-_} .
o =
- (o)} <
EXTERIOR ST N Y
EXTERIOR INTERIOR EER
| 23 1% 8¢
Q. u =z
T 7 B
L2 <
g x
= b=
g |F
>.
[aa]
3]
P
o
7
o
o
FOAM CORE — |
L
<C
! S
= O
5 =z
BOTTOM RAIL— - oatE: 1/13/16
(PVC) } SCALE:  N.T.S.
~—1.75" — DWG. BY: JK
CHK. BY: LFS
/2" VERTICAL CROSS SECTION BRAWING 6.
TX-4597

\2/

SHEET 2 ofF 8

© 2016 R.W. BUILDING DONSULTANTS ING.



Lt
NYLON SCREW (3" FROM ENDS & 16" O.C. ) 075" 23
\ INTERIOR . £3 "
£ e w53
N % Ex Eg o 00
/—‘/ Su o3 -
= L - g in a 2 n ~ B .
: : L — | Y
: = s 205 27
=P\ — X :' = H 3% 280 2%
STILE (PVC) A 4 \ -, i 3 i 55 52 22
— i 23534 0
/ EXTERIOR \ TOP RAIL —| Uil ot 205 b
DOOR SKIN STILE (PVC) } RN & of; E
STEEL REFORCEMENT REINFORCEMENT 3 957 .
(0.125" X 1.5" X 84" (WOOD) 5 § & _©°
1"\ HORIZONTAL CROSS SECTION o e 5 398 gu
\3_/ RAIL c': o 33
REINFORCEMENT 2 § "
® 14
(WOQCD) 5 g é 4
35.75" MAX. PANEL 3
WIDTH
25" MAX. —] 1/2" GLASS BITE
D.L.O. WIDTH @ @\
q '\ —— 1" OVERALL GLASS THK. X %
J e} =l
‘ 1/8" TEMPERED GLASS - e wis
e s — & =N
| P % . ARSPACE EXTERIOR INTERICR =2 |5 22
1 d P _—1/8" ANNEALED GLASS <3 |2 og
‘Qomc‘ SAFLEX®PVB INTERLAYER Q% ol =
1/8" ANNEALED GLASS S
ALUM SPACER § o
DOW 995 S &
STRUCTURAL SILICONE & g
T L GLAZING DETAIL .
O 5 FLUSH GLAZED o
T
d I
st
<9 | s
< 2 .
= 2 5 o
8 & T O
g F 2
GLAZING BEAD &
. PVC
FOAMCORE [
Lot
l.__
; S
. o
g z
BOTIOM RAIL—] — paTE: 1/13/16
(PVC) A ? SCALE:  N.T.S.
50 ) PLASTPRO SIDELITE PANEL ~— 175 ows. 8. JK
FLUSH GLAZED CHK. BY: LFS
/ 2"\ VERTICAL CROSS SECTION DRAWING o
DOOR SKIN: FIBERGLASS (0.086" MIN. THK.) \3/ TX-4597
FOAM CORE: POLYURETHANE (1.9 PCF MIN.) e 3 o 8

© 2016 R.W. BUILDING DONSULTANTS INC.




"ON] SLNVLAASNGOG 9NIaning "M 9102

ZS8LL—d # NOILVYISIORY 40 3LVOI4ILHID 5 SNOISIAZY ST ToN
SY33NION3 TWNOISS3JONd 40 QUVOS SvXal SNOLVATTI ©f slelo] 8_
LB6L6'6S9'CLE FON Buoud - Nl 2lal s
S6GET M4 OOHIDA 0gZ Xog .o.m\Svgu ATBIASSY ¥0 1dvd 2 _M 8 d°
"ONI ‘SLNVLINSNOD SNIGTING NN 4*

¥00Q SSY1943414 =B E|g &

$ZLYOL# "3'd SvX3L O¥dLSY1d wldls| el b
q'd IPIWIYDS "4 UOPUAT] :Ag pedodsig sjuswnosoq :19Na0dd AR E A W b

Q\. 2
e g

ELEVATION
OXXO

ELEVATION
XX

b ‘BMD’L655°9651-X L\sBuIMeI\1DedW] Paze|D Ysnid - XXX - IALNAL - S\LNINVINYId DUl ‘Cdiselg\siuaid\y



TAON] SANVLILINSNOD SNIQ™TINg "M'Y 8102 @

268iL—4 # NOLVHISIOFY 40 ILvOidIL¥30 SNOILOTS SNOISIAGY .
SYIINIONI WNOISSIH0Hd 40 QuvO8 SvX3L SSONMD TWOILYIA A8 J1vad [ON
LBLB'6G9'CLE "ON BuOyd

6GTE 14 oIon ey XOB O g@, K1BW3SSY 80 Lavd
*ONI *SINVLINSNOD SNIGNINg

JK
LFS

N.T.S.

TX—4597
SHEET _5 oF _8

4000 SSY1943414

CZLYOL# ‘I'd SVX3L OddISY1d
‘S'd IPIWYDSS ‘4 uopuky Ag peupdald sjuswunso( 1oNaodd

oate: 1/13/16

DRAWING NO.:

SCALE:
DWG. BY:
CHK. BY:

s.ﬁﬁza/zzaa I

D ) CONCRETE

P ) WOOD
VERTICAL CROSS SECTION

ADA Sil

A

ANIS.O
S0

A
&

[AN]

I

Q O

o =z

Q O

= O
@ | am AT S

A\Y

EXTERIOR

INTERIOR

/"2 VERTICAL CROSS SECTION

&
&)

@

SEENOTE 1

SONRVIVEVSY

/‘(

/“ 4\ VERTICAL CROSS SECTION

A\
INTERIOR /X
W Inswing sifl

SEENOTE1
r‘\-

ANISO

o
=
=
g
&
L
(AN
/ @ * S1°0

EXTERIOR

3
\y inswing sill

EXTERIOR

Spacing foritems J & K @ head & ill: 6" from each end.
/\&

/"1 "\ VERTICAL CROSS SECTION
VERTICAL CROSS SECTION

INTERIOR

A
-
DRYWALL\[_«

INTERIOR
/

1. NOTE:

¢ 'BMP’L651°965-X L \sBuimes\oediu] pazeD ysnid - XXX - IALMAL - S\LNINVINNId JU] ‘Odiseld\siualID\y



015
CSINK

DRYWALL ‘\

A\

EXT. SHEATHING

\
o

/"1 "\ HORIZONTAL CROSS SECTION

\6_/ inswing shown {Outswing simitar)

EXTERIOR

INTERIOR

\\

015" __,
C'SINK

3

A\

/ DRYWALL

SEE NOTE 1 ®\

/" 2"\ HORIZONTAL CROSS SECTION

EXT. SHEATHING

w Inswing shown (Outswing similar)

EXTERIOR

8

WL

v', “

A\

A\

INTERIOR
SEENOTE 1

m HORIZONTAL CROSS SECTION

w Inswing shown {Outswing similar)

—t
N

&

7”4\ HORIZONTAL CROSS SECTION

w Inswing shown (Outswing similar)

_\._\_-s,x\\\..'\.\‘;hu
1

iR Y

NOTE:

1. Spacing for ifem J: ¢" from each end

and 5 more equally spaced along
sidelite jamb (7 totdl).

uj
ag
e )
T o @
Eg 5 4
£¥ 9 2
Nu Om [©]
d 2 L8
u'm LZO “
N -
6% & o Z
z 9 Z
O 0o §
tF RE<ftun 8
> Jgpe 0
2>, O
n - E
Z omw
5 8R. ¢
o © o &
O Xz
kel o L.
z
@ Zoy O
-
@ 50¢ %
& moa g
_,E o
E
7]
: x ;
£ i
3 [
18]
0
a

CERTIFICATE OF REGISTRATION # F—11852

PLASTPRO
FIBERGLASS DOOR

PART OR ASSEMBLY:

PRODUCT:

HORIZONTAL CROSS
SECTIONS

BY

NOJ DATE

REVISIONS

oatE: 1/13/16

scale:  N.T.S.

DWG. BY: JK

CHK. 8Y: LFS

DRAWING NO.:
TX—4597

SHEET 6 oF 8

R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - XXX - Flush Glazed Impact\Drawings\TX-4596.4597.dwg, 6.

© 2016 R.W. BUiLDING CONSULTANTS NG,



i
2u (TYP.) S B 6" ; a. 8
4" (TYP.) —»i T i 23 4
(TYP.) — me) [ | SEEHINGE ASRAGAL | : E2 2 bB
T I I, | DETAIL \ 3 H 5. 5B 2ZC
- — (TYP.) 2 e 27 2l
w s i e 520
? Z= % ; g ghg 3F
o el o @
& €& L\ 1X BUCK ‘ e zig 58
_ | °E 3 - i S H R
HEAD & JAMBS < a 2X BUCK B . W 290 60
£ o [ o1 S o™ s  8n. fo
(TYP) L‘ﬂﬂ :.:':-< v : wgg t%
- - J S He I g f 5% 06
o = e 392 g
RE \ i p
- X X & gk
HINGE DETAIL il 5 o
[ 3k i F
- 14 3!
o~
;o = wn
| SILL (TYP.) — 8 £ A ’/C _i S §§
= i3 O i % |, 22
* -2 me) L 50 |5 Oy
Additional anchor @ sil — —_ L ' <3 |2 <=2
req'd for DP > 40 psf. I 1 L\ I N oE 1B ER
D o =<
£(IVP) ] | HINGE JAMB MULTI-POINT LOCK STRIKE PLATE DETAIL g S el B
o ] " D o
31 -— 2 (TYP) ame) e S ke
4" (TYP) — |=— 4" (TYP.) —| (TYP) [ f‘“{ & <
l_llll\ llnll //Ill_l_l l___ &
* * !
LB
o=
— —_ _ ~ = ASTRAGAL STRIKE
HEAD & JAMBS / PLATE
(TYP.) 9
@]
_ ; - - 1o\ :
| T . 3
%
— O - X X - O - 31z
E [
ASTRAGAL BOLT DETAIL 2 |<
n _ _ _ Strike Plate @ Head <6
NG "
I._.
<C
- [
@\ Q % R
— — SILL (TYP.) (TYP.) — = o = i S
i % ) S
ﬁg oaTE: 1/13/16
o " ,/0 * SCALE: N.T.S.
| FTH 1) TIRES BRER1 AN ] , owe. BY:  JK
7 ' 3/8" @ BOLT HOLE v e 1FS
ES 1 . H
* 4 (1Y ASTRAGAL BOLT DETAIL LATCH AND DEADBOLT STRIKE PLATE DETAILS ~ [PRA"C No:
FRAME ANCHORING Inswing Threshold TX—4597
SHEET 7 ofF _8

R:A\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - XXX - Flush Glazed Impact\Drawings\TX-4596.4597.dwg, 7.

© 2016 R.W. BUILDING CONSULTANTS INC,



—1.25" -—l

! 2.44 ! 2.

0.75"

‘}3"

@ POLY FIBER JAMB

14" ]

21

BILL OF MATERIALS
MEM # | DESCRIPTION MATERIAL
A 2X FRAMING (G >=0.42) WOOD
C 1/4" MAX. SHIM SPACE -
D 1/4" PFH CONCRETE SCREW {1-1/4" MIN. EMB.) STEEL
F #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMB.) STEEL
G 3/16" PFH CONCRETE SCREW (1-1/4" MIN. EMB.) STEEL
J #10 X 2-1/2" PFH WOOD SCREW STEEL
K #10 X 3" PFH WOOD SCREW STEEL
M #10 X 2" PH SMS STEEL
] POLY FIBER JAMB COMP.
2 WOOD JAMB WOOD
6 DOOR SWEEP PVC
7 WEATHERSTRIP (ENDURA FORCE §) FOAM
8 WEATHERSTRIP (Q-LON}) FOAM
9 #9 x 3/4" PFH WOOD SCREW STEEL
11 4" X 4" HINGE STEEL
12 LATCH STRIKE PLATE STEEL
13 DEADBOLT STRIKE PLATE STEEL
20 INSWING THRESHOLD ALUM/COMP
21 INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP
24 ADA THRESHOLD ALUM
26 INSWING THRESHOLD ALUM/WOOD
27 INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/WOOD
33 ASTRAGAL (DLP OR ENDURA) ALUM
40 DOOR PANEL -
50 SIDELITE PANEL -
CONCRETE ANCHOR NOTES:

1. Concrete anchor locations at the comers may be adjusted to maintain the min.
edge distance to mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are nof exceeded.

3. Concrete anchor table:

ITW BUILDEX | 3/16" s

TAPCON® [ /8" 1-1/8
ELCO Gl U] " Wl
utrraconN® | 14 1-1/4 1 4

4. Concrete: 3,000 psi min. conforming to ACI 301.

WOOD SCREW INSTALLATION NOTES:
1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws to prevent the splitfing of wood.

0.94"

- 4.56"

20 INSWING THRESHOLD

Endura (Z-Series}

—2.1"

'

SIDELITE
ADAPTER

4.56"
INSWING THRESHOLD w/ SIDELITE ADAPTER

Endura {Z-Series)

-—1.78" a}

SWEEP

~—1.75"

l—-——— 288" ——|

5/16" @ SLIDE BOLT
(2" THROW @
EACH END)

CONCEALED
STIFFENER

(::) DLP ASTRAGAL
{Latch & Deadbolf)

| 456" -
/_—I in
I ——— :

( : ) WOOD JAMB

| 456" |

24 }INSWING THRESHOLD
DLP (15CS)

= SIDELITE
ADAPTER

=

| 4.56" |

A ANNY -

Z-2-0

27 INSWING THRESHOLD w/ SIDELITE ADAPTER

DLP (1SCS)

1

DLP

——1.75" »1

2.65"

33 ENDURA ASTRAGAL
Ultimate Humicane {Laich & Deadbolt}

24 }ARA THRESHOLD

5/16" @ SLIDE BOLT
(2' THROW @
EACH END)

BOLT RETAINER

Uttimate Triflennium {Multi-Pt. lock}

U

0

e

o

53

Ex a

£ 0

0 . 9

(/)L‘_! )

s )

u RN

0 [l
=2 £%o
X 02

T oo

Ck 0

3 G
> M
ow©
%)
o~
X
0
o
(o]
o

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

PLASTPRO
FIBERGLASS DOOR
BILL OF MATERIALS
& COMPONENTS

PART OR ASSEMBLY:

PRODUCT:

BY

NO. DATE

oate: 1/13/16

scale:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4597

sHEET 8 oF 8

R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - XXX - Flush Glazed Impact\Drawings\TX-4596.4597.dwg, 8.

CERTIFICATE OF REGISTRATION # F-—11852

REVISIONS

© 2016 R.W. BUILDING CONSULTANTS INC.



